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Lesson 19 -  Student Notes           
2NT Strong Opening Bid  
 
 

Before we go into detail on this lesson it is worth the usual recap 

Opener’s Balanced Hands: Review   

  12 - 14 HCP  =  Open 1NT  

  15 – 17 HCP  =  Bid a suit then rebid 1NT  

  18 - 19 HCP =  Bid a suit then rebid 2NT (Virtually Game forcing)  

  But with 

  20 - 22 HCP =  Open 2NT   

a 2nt opening bid shows a balanced hand 20 - 22 HCP 

It is a non-forcing, Limit Bid i.e. your hand is described in this one bid!  

N.B. A balanced hand has no voids, no singleton and only one doubleton.  

However, with a strong 2NT opener, it is acceptable to open with 2 doubletons; 

provided you have stops in each!  

Examples of Strong 2NT Opening bid: 

ª A K 2                  
©   A Q 8 5              
¨ A 9 5 4               
§K 8 

ª A K 5                            
©   A K J                             
¨ 6 3                               
§ A Q 9 8 3 

ª A J 8                                      
©   J 5                                         
¨ A K Q                                   
§ A Q J 6 4 

ª A 5                         
©   A T 9 8                   
¨ A K T 5 2               
§ A Q 

20 HCP 21 HCP 22 HCP 21 HCP 
2NT 
 

2NT 2NT 2NT Yes, even 
with 2 
doubletons! 
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responses to a 2nt opening bid:  
*Remember, you need 25 HCP for game 
 
 
 Pass:   0 - 3 HCP balanced  No Game likely     
 3¨ or 3© 0+ HCP unbalanced Transfer telling partner of your 5- 
       card major  
 3§   4+ HCP   Stayman – asking opener if he has a  
       4-card major     
 3NT   4+ HCP   Balanced hand, no 4 or 5 card major 
 4© or 4ª  4+ HCP   6+ major suit  
 
NOTE: Stayman and Transfer Response bids to 2NT Openers are similar to 1NT 
Openers but at the 3 level rather than 2 level.   
 
They are still Conventional and must always be Alerted by Partner.  

 

Examples: 

ªQ T 7 6 4 3 
©5 2 
¨9 8                             
§K 6 5 

ªT 5 2 
©J T 5 
¨K 9 8 4 2 
§K 4 

ª K T 4 2                                                       
©A 6 5 3                                                               
¨2                                                                  
§8 6 4 3 

ªJ 3 2                                                                                              
©9 6                                                                                              
¨J 6 4 2                                                                                   
§9 7 5 3 

Bid 3© Transfer 
Raise partner’s 3ª  
to game. 
Your 5 HCP + 
opener’s known 20 
HCP = 25 HCP 
 
 
 
 
 

Bid 3NT               
You have no 4 
or 5 card major 
but with 7 HCP 
+ opener’s 
known 20 HCP = 
27 HCP 
 
 
 
 

Use 3§ Stayman 
to look for a 4:4 
Major fit. 
If Partner rebids 
3¨, then rebid 
3NT, 
otherwise 4 of the 
Major bid. Your 9 
HCP and opener’s 
known 20 HCP = 29 
HCP 

PASS                                                                                         
You have a flat                                                                                                
hand and only                                                                                           
2 HCP Even if                                                                                       
opener has                                                                                        
22 HCP = 24 
HCP not 
enough for 
game 
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Opener’s Rebids after 3§ Stayman  
 

If responder bids 3§ he is asking: “Do you have a 4 card Major?”  
 
Firstly, Opener must alert this Conventional bid.  
 -  If Opener has no 4 card Major suit, bid the denial 3¨, alerted by partner  
 -  Opener bids a 4 card Major suit if he has one   
 -  If Opener has 4+ cards in both Major suits, bid hearts first Responder will  
 support if he has hearts, otherwise he will bid 3NT.  But remember, if 
responder rebids 3NT he must have a 4 card spade suit. So, if Opener has 4 cards 
in spades also, he can convert responder’s 3NT bid, to 4ª.   

 

 
 

Opener’s rebids after 3¨or 3©Transfer bids  

If Responder bids 3¨ or 3© he is telling opener he has a 5 card Major suit, then:  
 
Opener must alert this Conventional bid.  
 

ªAQJ4 
©AQ82  
¨KQ
§QJ4

West has 
20-22, HCP
balanced

N
W      E

S

With 5 HCP and a 4 card major,  Responder can bid 3§ STAYMAN after partner’s 
2NT Opening bid.
With BOTH 4 card majors Opener MUST rebid 3© FIRST
Responder, not having a 4 card heart suit will now bid to game 3NT

Opener thinks …to use Stayman partner MUST have 4 cards in                         
spades so can choose to Pass 3NT, or convert to 4ª

East has 5 
HCP and a 4 
card major

ªKT63
©J6   
¨J642
§T53

2NT 3§

RESPONSES TO 2NT – 20-22 HCP
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Then Opener MUST complete the transfer: 3¨ intoà 3©, OR  3© intoà 3ª   
 
Responder will then Pass if very weak (0 - 3), rebid 3NT leaving Opener to Pass, or 
convert to 4 of the Major if holding 3+ cards in that major.  
 
REMEMBER: 2NT is a Limit Bid so Responder is in charge and determines 
whether Game or Part Game is possible.  
 
However, Opener may be able to choose where the game is played!  
 

 

 

BUT What if Responder has a strong hand too? 

Game is definite. i.e. 3NT or 4 of major, or even 5 of a minor, but might there be a 
slam i.e. making 12 or all 13 tricks?  
 

 

 

ªAJ5 
©AK8  
¨KQ8
§QJ42

West has 
20-22 HCP 
balanced

N
W      E

S

With a 5 card major,  Responder makes a TRANSFER bid after 
partner’s 2NT Opening bid (intending to rebid game)    
Opener MUST rebid 3© and Responder will now rebid game - 3NT

Opener knows Responder has game points and a 5 card heart suit so 
having a ‘fit’ can choose to Pass 3NT, or convert to 4©

East has 6 HCP 
and  a 5 card 
major

ªKT
©QJ976   
¨964
§T53

2NT 3¨

RESPONSES TO 2NT – 20-22 HCP

3© 3NT
4©



SBU - Lesson 19 - Student Notes - 2NT Opening Bids 
 
 

5 

Responder needs to know the strength of Opener’s bid 

A 4NT bid used Immediately by Responder after 
partner opens NT carries a special meaning! 

 
After a NT opener, a bid of 4NT by Responder is a Conventional bid to explore for 
a slam in NT It is called a Quantitative 4NT and asks opener one specific question!  
 
“Pass if you have minimum HCP for your opening bid, but bid 6NT if you are 
maximum” 
 
This is an immediate bidding sequence of 2NT - 4NT (or 1NT – 4NT)  
 
A 2NT Opener must rebid 6NT with the maximum 22 HCP and pass with a 
minimum 20 HCP.  
 
A 1NT Opener must rebid 6NT with the maximum 14 HCP and pass with a 
minimum 12 HCP 
 
So, what kind of hand does responder need to have to 
use the 4nt quantitative bid? 
 
Slam Enquiry after a 1NT or 2NT Opening Bid by Partner  
The Partnership needs:  25+ HCP for Game   
    33+ HCP for 6NT = Small Slam  
    37+ HCP for 7NT = Grand Slam  
 
 
So, If Opener bids 2NT (20-22)  
Responder needs a minimum of 11 HCP (11 + 22 = 33 HCP) to make a slam 
enquiry in NT using the 4NT Quantitative Bid.  

 
And if Opener bids 1NT (12-14) 
Responder needs a minimum of 19 HCP (19 + 14 = 33 HCP) to make a slam 
enquiry in NT using the 4NT Quantitative Bid.  
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Example 1: Opener has the maximum 22 HCP so bids to 6NT straight away. 
 

 
 
In example 1 above, responder with 11 HCP uses the 4NT Quantitative Bid which 
asks opener the same specific question!  
   

‘Pass if you have minimum HCP, bid 6NT if you are maximum’ 
 
 
 
It can also be used if Opener bids 1NT (12-14)  
But now Responder needs minimum of 19 HCP (19 + 14 = 33HCPs) to make a 
slam enquiry in NTs 
 
 
In example 2 below, responder with 19 HCPs uses the 4NT Quantitative Bid which 
asks opener the same specific question!  
   

‘Pass if you have minimum HCP, bid 6NT if you are maximum’ 

The 4NT Quantitative Bid in Action after a

2NT Opener

The Quantitative 4NT says to partner, the NT Opener:
‘Pass if you have minimum points for your NT opener, but bid 6NT if 
you are maximum!’

The Quantitative 4NT bid by Responder to an Opening bid of 2NT (or 
1NT) is a Conventional bid. 
It must be alerted by Opener.

ªAK9
©QJ7
¨AK92
§KQ9

N
W    E

S

ªQ842
©K82
¨Q65
§A85

West East

Opener

20-22 HCP

Responder 

11 HCP

2NT 4NT

6NT Pass

Opener is 

maximum 

22 HCP
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Example 2: Opener with only 12 HCP declines responders slam enquiry - he  
  passes 4NT 
 

 
 

What if you want to enquire about a NT slam after 
initially bidding suits?  

 
This is where the 4§ Gerber Conventional Bid is useful. 
The most common usage of Gerber to investigate Ace 
"controls" is when the partnership has not found a suit fit 
and has made a NT bid at a later stage in the auction. This is 
shown in the examples below where one of the partnership 
makes a NT response or re- bid.  

 

Normally a jump bid of 4§ identifies the bid as Gerber e.g.  

  West   East  

  1♥   1♠  

  1NT   4§  (Gerber asking how many Aces do you have?)  

Responding to Gerber Enquiry Bids  

Replying to 4♣ Gerber Ace asking enquiry are in steps:  

 4♦ =  0 or 4 Aces  

 4♥ =  1 Ace  

 4♠ =  2 Aces   

 4NT =  3 Aces  
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We are going to use the 4§ Gerber conventional bid to ask for Aces only after 
the partnership has bid NT and the final contract is likely to be in NT. This allows 
the partnership to ‘bail out’ and play in 4NT or 5NT if they find they do not have 
sufficient to bid onto 6NT.  
 
Example: Responder knows opener has 17-18 HCP given his 2NT rebid. 
Responder, holding 15 HCP tries for a slam by bidding 4§, the Gerber 
convention, asking for Aces. Opener’s 4© response shows only one Ace. With 2 
Aces missing responder bails out by bidding 4NT. 
 
 

♠ K 9 4 
♥ A K Q T                     
♦ 9 8 7 
§  K Q 3  

N 
W      E 

S 

♠ Q J 8 5 
♥ J 4 3 
♦ K Q J 4  
§ A J 

West  East 
1♥  1♠ 

  2NT  4§   
4♥   4NT 

 
 
When Responder asks for Aces with 4§ Gerber and discovers that two aces are 
missing.  
 
Responder signs off in 4NT, now knowing that 6NT will go down.  
 
 
 
 
hand evaluation in nt 
 
What if Opener has 21 HCP and Responder invites Game?  
Opener thinks  
 
“I’m 1 HCP short of bidding Slam. Is my hand worth upgrading by 1HCP?”  
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A  
♠ A 7 4 
♥ A Q 2 
♦ A K 8 2            
♣ K J 5  

B  
♠ K J 6         
♥ A 5            
♦ K Q 4        
♣ A K J T 5 

C 
♠ A K J               
♥ K Q J              
♦ Q J T 9           
♣ K J T 

Hand A  
has no 
intermediates 
and no 5 card 
suit 
 

Hand B  
has a good 5 
card suit 
which can be 
established 
 

Hand C 
is loaded with 
10s and 9s - 
good 
intermediates 
 

PASS 4NT 
 

Bid 6NT 
 

Bid 6NT 
 

 

Slam bidding is part of the ‘risk and reward ’ system that is evident in all parts of 

this game of Bridge, so you will not be surprised that there are significant 

additional bonuses for bidding and making slams, with of course the risk of losing 

everything!  

The additional bonuses for bidding and ‘making’ ‘Small Slams’ seems on first sight 

complex!  

 

 

 

 

 

 

Similarly with ‘Grand Slams’ you add:- 

1000 to non-vulnerable game scores  

and  

1500 to vulnerable game scores 
 

It’s simple really you just add:- 

500 to non-vulnerable game scores 

and  

750 to vulnerable game scores  
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Summary: Strong 2NT Openers 

1. An opening bid of 2NT shows 20 - 22 HCP and a Balanced hand. It is NOT a 
game forcing. Responder with 0 - 3 HCP and no long suit, can pass.   

 
2. With 4+ HCP Responder’s bids after a 2NT opening are the same as after a 

1NT opening: i.e. Responder can use 3♣  Stayman and 3♦ and 3♥ Transfer 
Bids.  

  
3. With 33+ points in the partnership, enquire about a NT Slam using the 

Quantitative 4NT Conventional bid. This asks opener to:  
 
 ‘Pass if you have minimum HCP for your opener, but bid 6NT if you have  
 maximum HCP for your opening bid’ 
 
4. After a 2NT opening bid Responder needs 11 HCP to use the 4NT 

Quantitative Bid and  
 after a 1NT opening bid Responder needs 19 HCP. 

 
5. Opener may evaluate his hand and ‘upgrade’ or ‘downgrade’ a mid- point 

hand depending upon its shape or intermediate cards.  
 
6. The 4♣ Gerber Conventional bid is used for Ace asking when the 

partnership have not found a suit fit and have bid NT at some later stage in 
the auction.   


